KEMHREERIR KERES)

ERFKE (TEAK) SH6E4A
® K %% &% % w7
k B B OE p HIE B &
o K & & UK
Al B % °c mg/L mg/L mg/L mg/L E mg/L
1A 8:46 11.3 1.8 1.8
2 | K 8:38 10.3 40 68 9.1 0. 06 1.6 1.2 37.1
3[k| 8:49 10.4 1.1 1.0
4 [ K 8:46 11.3 1.7 1.7
5(%| 8:45 11.5 1.9 2.1
6 X 8:00 11.3 7.9 1.1
118 8:00 11.5 8.0 1.0
81A 8:46 12.0 7.8 0.7
9 [xf 9:00 14.0 41 69 8.6 0. 11 8.1 2.1 39.9
10| K 8:46 12.1 7.8 1.6
1M AR[ 8:47 11.3 1.1 0.7
12| & 8:45 12.1 7.8 0.8
13[£] 8:00 13.1 8.1 1.7
148 8:00 12.2 1.6 0.9
15| A 8:49 12.6 1.6 0.7
16| X 9:20 13.9 42 70 9.5 <0.03 7.9 0.6
171 k| 8:46 13.7 1.1 0.7
18| K 8:46 13.7 7.8 0.5
19(£]| 8:46 14.5 8.1 0.5
20| £ 8:00 13.9 7.9 0.6
21| B 8:00 14.3 1.8 0.6
221 B 8:45 14.2 1.6 0.6
23| k] 8:43 14.0 38 68 9.0 0.03 1.1 0.5 35.6
241 K 8:46 14.2 1.7 0.6
25| K| 8:45 14.4 1.9 0.4
26| & 8:45 13.5 1.6 0.6
27| | 8:00 14.3 1.1 0.6
28| B 8:00 14.9 7.8 1.1
29| A 8:00 15.3 1.9 0.9
30| x| 8:10 14.1 38 66 9.0 0.05 1.7 1.1 35.6
T — 13.0 40 68 9.0 0.05 7.8 1.0 37.1
= & — 15.3 42 70 9.5 0. 11 8.1 1 39.9
= & — 10. 3 38 66 8.6 <0.03 7.6 0.4 35.6
E- =




KEMHREERIR KERES)

EWRFKE (TXAK) SFI64E5 A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1[K] 8:46 16.0 1.9 1.8
2| K| 8:46 16.3 1.8 2.6
3|« 8:00 15.8 1.8 0.9
4 (x| 8:00 16.0 1.7 0.6
518 8:00 16. 6 8.0 0.6
6| A 8:00 17.0 8.2 0.7
Tx| 8:47 17.4 38 64 8.9 0.04 1.9 0.6 36. 7
8|sk| 8:46 16.6 1.9 0.9
9 | A[ 8:45 16. 1 1.9 1.8
10(£| 8:47 15.8 1.9 1.6
11| £] 8:00 15.9 8.0 0.8
12| 8 8:00 16.7 8.0 0.7
13| A| 8:38 16. 6 8.0 0.8
14| k] 8:48 16. 1 39 67 9.2 0.05 8.1 1.1
15] K| 8:45 16.5 8.0 0.9
16| K| 8:46 17.0 8.0 0.9
17| %] 8:46 16.9 8.1 1.4
18]+ 8:00 17.2 8.4 1.2
1918] 8:00 18.2 8.6 1.3
20| A 8:46 18.0 8.8 1.1
21| k| 8:49 18.5 38 69 9.0 0.09 8.7 1.0 34.7
22k | 8:36 18.5 8.4 1.0
23| K| 8:45 18.9 8.7 0.9
241%&| 8:46 18.7 8.5 0.8
25| 8:00 20.0 8.9 1.3
26| B 8:00 19.4 8.8 1.3
21| A| 8:43 19.1 8.7 0.9
28 x| 8:49 19.0 39 " 9.0 0.10 8.5 0.9 35.9
29| k| 8:46 18.6 8.1 4.3
30[{A| 8:45 18.1 8.5 1.1
3i{&| 8:45 18.3 8.8 1.1
T 1 — 17.4 39 68 9.0 0.07 8.2 1.2 35.8
B = — 20.0 39 11 9.2 0.10 8.9 4.3 36. 7
=K — 15. 8 38 64 8.9 0.04 1.7 0.6 34.7
B2 =




KEMHREERIR KERES)

ERFKE (TEAK) L6467
® K %% &% % w7
k B B OE p HIE B &
o K & & UK
Al B % °c mg/L mg/L mg/L mg/L E mg/L
11| 8:00 18.3 8.5 1.2
2|AH 8:00 18.8 8.8 1.2
3| A 8:48 18.5 8.5 1.1
4 [k 8:47 18.5 38 69 8.9 0.12 8.4 1.2 34.9
5([k| 8:49 20.0 8.8 1.4
6| K 8:46 19.6 8.8 1.1
1| 8:47 19.8 8.8 1.1
8|x 8:00 19.9 8.8 1.2
918 8:00 20.4 8.9 1.3
10| A 8:40 20.7 8.9 0.9
1 k| 8:43 21.2 39 13 8.9 0.05 8.9 0.9 36.0
12| K 8:58 21.6 8.7 0.9
13| &<| 8:46 22.0 9.1 0.8
14| &€ 8:46 22.0 8.9 0.9
15(£] 8:00 21.9 8.8 1.1
16| B 8:00 23.4 8.9 0.8
17| A 8:46 23.5 8.9 0.8
18| X 8:46 22.6 39 Jal 8.6 0.05 8.8 0.7 35.6
19| k| 8:46 22.1 8.3 3.7
20| R 8:40 22.5 8.2 1.7
21| & | 8:46 22.4 8.4 1.2
2|1 8:00 23.3 8.4 1.0
23| B 8:00 23. 4 8.5 0.9
241 B 8:46 23.5 8.4 1.6
25| k] 8:45 23.9 39 717 8.3 0.09 8.4 1.0 36.2
26| K 8:47 23.8 8.3 1.2
27| K| 8:50 23.2 8.0 0.9
28| & 8:46 23.4 7.9 0.7
29| £ 8:00 22.9 1.8 3.3
30| B 8:00 23.8 8.1 1.4
T — 21.7 39 13 8.7 0.08 8.6 .2 35.7
= = — 23.9 39 717 8.9 0.12 9.1 3.7 36. 2
= 1K — 18.3 38 69 8.3 0.05 7.8 0.7 34.9
i =




KEMHREERIR KERES)

EWRFKE (TXAK) SFI64TA
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1[{A] 8:59 24.3 8.3 0.9
2| k| 8:48 24.0 42 66 8.0 0.08 1.8 1.1 37.8
3| K[ 8:46 24. 1 1.9 0.9
4 [KR| 8:45 24.9 1.9 0.9
5|&| 8:44 25.1 1.9 1.0
6 x| 8:00 26.4 8.4 0.9
718 8:00 26. 1 8.0 0.9
8 1A 8:45 27.5 40 68 8.4 0.05 8.1 0.7 35.8
9 | k[ 8:40 26.9 1.7 0.9
10| k| 8:44 26. 6 1.5 0.8
1] AR| 8:46 26.9 1.8 0.5
12| €| 8:46 26.7 1.8 0.5
13| £]| 8:00 26.3 1.9 0.8
141 8 8:00 26.2 1.7 0.7
15| A 8:00 26.2 1.9 0.7
16| k| 8:46 25.3 41 10 1.1 0.09 1.4 1.3 36. 4
17] k| 8:40 25.9 1.8 2.6
18| K] 9:40 26.4 8.0 2.8
19| 8:47 21.5 8.3 1.5
20| £] 8:00 28.2 8.3 1.0
21{a| 8:00 27.2 1.7 1.5
22| A 8:41 28.3 38 64 1.8 0. 06 1.9 0.8 34.9
23| k| 8:38 28.9 8.0 0.5
24 k| 8:36 28.9 1.8 0.6
25| K| 8:42 28.8 1.9 0.5
26|%&| 8:24 28.3 1.7 0.6
27{ x| 8:00 29.0 8.1 0.5
28| B 8:00 28.8 1.8 0.8
29| A| 8:38 28.9 39 68 8.5 0.06 1.7 0.7 35. 6
30f x| 8:39 29.7 1.8 0.8
31]k| 8:36 29.3 1.9 0.7
T 1 — 27.0 41 68 8.0 0.07 1.9 0.9 36. 1
B = — 29.7 42 10 8.4 0.09 8.4 2.8 37.8
=K — 24.0 40 66 1.7 0.05 1.4 0.5 34.9
B2 =




KEMHREERIR KERES)

EWRFKE (TXAK) SFI64E8 A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1[AR] 8:42 29.4 1.9 1.1
2 (& 8:52 29.9 1.7 0.7
3| 8:00 29.9 1.7 0.5
418 8:00 30.2 1.8 0.6
5|A[ 9:03 31.0 1.8 0.4
6 |:X] 8:41 30. 6 37 69 8.2 0.04 1.6 0.5 33.7
7|K([ 8:40 30.7 1.7 0.5
8| K| 8:39 30.3 1.7 0.5
9| 8:49 30. 1 1.5 0.6
10| 8:00 30. 1 1.7 1.3
11]18] 8:00 30.2 1.7 1.1
121 A 8:00 29.8 1.5 0.9
13 x| 8:00 29.8 1.5 0.6
14| 7k] 8:00 30. 1 1.6 0.5
15] A& 8:00 30.3 1.6 0.5
16[€| 8:41 30.5 38 69 8.3 <0.03 1.6 0.6 34. 4
17| £] 8:00 29.8 1.5 1.5
18] A 8:00 29.5 1.6 1.0
191 A| 8:40 29.7 36 68 8.2 0.03 1.5 0.7 33. 6
20 x| 8:37 29.4 1.6 0.6
21| k| 8:40 29.5 1.6 0.6
22({ K| 8:54 29.5 1.6 0.8
23(&| 8:39 29.9 1.6 0.6
241£] 8:00 30. 1 1.6 0.5
25(A| 8:00 30.3 1.6 0.4
26| A 8:42 30.7 37 67 8.2 0.03 1.7 0.4 34. 4
27| k| 8:41 29.7 1.5 0.5
28k | 8:50 30. 1 1.7 0.3
29| K| 8:37 29.5 1.7 0.4
30|£] 9:01 28.6 1.6 0.7
3fx| 8:00 28.2 1.6 0.8
T 1 — 29.9 37 68 8.2 <0.03 1.6 0.7 34.0
B = — 31.0 38 69 8.3 0.04 1.9 1.5 34.4
=K — 28.2 36 67 8.2 <0.03 1.5 0.3 33. 6
B2 =




KEMHREERIR KERES)

ERFKE (TEAK) SH6E9IA
® K %% &% % w7
k B B OE p HIE B &
o K & & UK
Al B % °c mg/L mg/L mg/L mg/L E mg/L
18 8:00 28.0 1.6 0.8
2R 8:51 28.1 1.6 0.7
3[k| 8:38 28.4 36 65 8.3 0.05 1.6 0.6 34.3
4 [k 8:52 28.1 1.6 0.9
5[A&[ 8:37 28.4 1.6 0.8
6|& 8:43 28.4 1.6 0.7
7{x£] 8:00 28.6 1.6 0.6
8|AH 8:00 28.9 1.6 0.6
9|H 8:42 29.4 37 68 8.3 0.03 1.6 0.7 34.4
10| X 8:46 29.1 1.6 0.6
11 k| 8:45 29.1 1.1 0.5
12| K 8:40 29.6 1.7 0.4
13[£] 8:38 29.8 1.1 0.4
14| £ 8:00 29.8 1.7 0.5
15| B 8:00 29.7 1.6 0.5
16| A 8:00 29.7 7.8 0.6
17 k| 8:46 29.7 37 67 8.4 0.04 1.1 0.5 35.0
18| K 8:44 30.0 1.7 0.5
19 K[ 8:41 30.2 1.8 0.4
20| & 8:39 30. 1 1.6 0.5
21| | 8:00 30.2 1.8 0.5
221 8 8:00 29.8 1.7 0.5
23| A 8:00 27.17 1.5 2.5
24 K 8:38 27.9 36 68 8.7 0.04 1.6 1.0 35.4
25|k | 8:41 27.4 1.1 0.7
26| K 8:37 27.6 1.7 0.6
27| 8:41 27.8 1.6 0.6
28| £ 8:00 27.5 1.5 1.0
29| B 8:00 26.9 1.6 0.9
30| A 8:37 26.8 1.6 0.6
T — 28.8 37 67 8.4 0.04 7.6 0.7 34.8
= & — 30.2 37 68 8.7 0.05 7.8 2.5 35.4
= & — 26.8 36 65 8.3 0.03 1.5 0.4 34.3
i =




KEMHREERIR KERES)

EWRFKE (TXAK) SF6EI0A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1[x] 8:43 26.7 1.5 0.6
2|k 8:48 26.9 1.6 0.8
3|A[ 8:42 26.7 38 67 8.5 0.04 1.8 0.7 35.1
4 (#| 8:40 26. 1 1.6 1.0
5/x] 8:00 25.2 1.7 1.4
6|8 8:00 25.3 1.8 1.0
17|A| 8:42 25.6 38 66 8.5 0.03 1.9 0.8 34.2
8|k 8:36 25.4 1.9 0.7
9 | K[ 8:45 24. 1 1.8 2.0
10| K| 8:37 24.0 1.8 1.3
11|#&| 8:38 24.0 1.9 0.8
12| | 8:00 23.4 1.8 1.4
13| 8] 8:00 23.8 1.9 0.9
141 A 8:00 23.8 1.8 0.8
15] k| 8:56 23.9 39 65 8.6 0.03 1.8 0.8 36.0
16| K| 8:37 23.7 1.7 0.8
17| &< 8:39 23.7 1.8 0.6
18| €| 8:42 24.0 1.7 0.8
19| £] 8:00 23.9 1.7 0.8
20| 8 8:00 22.7 1.7 9.5
21| A] 8:39 21.9 39 67 8.8 0.05 1.7 1.8 35.1
22 x| 8:37 21.8 1.8 1.2
23| k| 8:41 22.4 1.8 0.9
24 K| 8:36 22.3 1.8 1.4
25(«| 8:38 21.8 1.8 1.5
26] ] 8:00 21.8 1.9 1.1
27{Aa| 8:00 21.7 1.8 1.0
28| A 8:43 21.6 39 65 8.7 0.05 1.8 1.1 35.0
29| k| 8:20 21.0 1.8 1.4
30| k| 8:44 20.8 1.7 1.3
31f{A| 8:36 19.6 1.8 2.0
T 1 — 23.5 39 66 8.6 0.04 1.8 1.4 35. 1
B = — 26.9 39 67 8.8 0.05 1.9 9.5 36.0
=K — 19. 6 38 65 8.5 0.03 1.5 0.6 34.2
B2 =




KEMHREERIR KERES)

ERFKE (TEAK) SH6E11H
® K %% &% % w7
k B B OE p HIE B &
o K & & UK
Al B % °c mg/L mg/L mg/L mg/L E mg/L
1|£| 8:40 20.4 1.8 0.8
2| £ 8:00 20.2 7.8 0.9
3| B 8:00 19.3 1.8 5.8
41 A 8:00 18.5 7.8 2.4
5| 8:38 19.5 38 67 8.4 0.05 1.8 1.2 35.1
6 | K 8:51 19.1 7.8 1.6
7[A[ 8:36 18.1 1.8 3.9
8 | & 8:47 16.5 7.8 2.5
9(£] 8:00 16.4 1.9 1.2
10(8 8:00 16.5 8.0 1.0
11| A 8:37 17.9 1.9 1.0
12| X 8:39 17.5 39 66 8.5 0.04 7.9 0.9 35.2
13| k| 8:38 18.0 1.9 0.9
14| K 8:45 17.3 7.8 1.1
15| 8:44 17.9 1.9 1.1
16| = 8:00 17.8 8.0 1.1
17| 8 8:00 18.1 1.9 1.0
18| A 8:44 17.6 42 Jal 10 0.17 7.8 3.7 39.1
19 k| 8:45 15.2 1.8 3.9
20] K 7:45 14.9 7.8 1.4
21| K| 8:45 14.8 1.8 1.0
2| % 8:26 15.4 7.8 1.0
23| | 8:00 15.0 1.8 2.5
241 B 8:00 14. 4 7.9 1.2
25| A 8:45 14.4 39 65 8.7 0.04 1.8 1.1 35.4
26| K 8:49 14.6 7.8 0.8
27]Kk] 8:45 15.1 1.8 1.2
28| K 8:45 14.2 7.8 1.1
29|&| 8:44 13.7 1.9 1.1
30| | 8:00 13.4 7.9 1.1
T — 16.7 40 67 8.9 0.08 7.8 . 36. 2
= & — 20. 4 42 71 10 0.17 8.0 5.8 39.1
= & — 13. 4 38 65 8.4 0.04 7.8 0.8 35. 1
i =




KEMHREERIR KERES)

EWRFKE (TXAK) SF6EI2A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
18| 8:00 13.2 1.9 1.1
218 8:42 13.7 1.9 0.7
3| x| 8:48 13.6 40 65 9.0 0.04 8.0 0.7 36. 1
4[| 8:45 14.1 8.0 0.7
5| A[ 8:44 13.4 1.9 0.9
62| 8:49 12.6 1.9 0.8
71x] 8:00 13.1 1.9 0.8
81H 8:00 12.6 1.9 1.0
9| A 8:45 12.0 39 66 9.1 0.07 1.8 1.1 35. 6
10| k] 8:37 12.2 1.8 0.8
11]Kk| 8:44 12.1 1.9 0.7
12| K| 8:44 11.1 1.9 1.3
13| &| 8:45 10.8 1.9 0.7
14|+ 8:00 11.3 1.8 1.2
15| 8] 8:00 10.2 1.8 1.0
16| A 8:44 10.6 40 65 8.8 0.05 1.8 0.8 36.3
17 x| 8:49 11.1 1.8 0.6
18| K| 8:45 11.0 1.8 0.6
19| K| 8:44 11.0 1.8 0.9
20|%&| 8:44 9.8 1.9 0.8
21| 8:00 10.3 1.9 0.6
22| B 8:00 10.4 1.8 0.7
23| A| 8:28 9.3 39 66 9.0 0.06 1.8 1.0 35.3
24 x| 8:43 9.6 1.8 0.9
25| k| 8:45 9.5 1.8 0.8
26 A<| 8:38 10. 1 1.8 0.6
27{&| 8:36 10.2 1.7 0.7
28] £] 8:00 9.4 1.8 0.9
29{A| 8:00 8.9 1.8 0.8
30[A| 8:00 9.1 1.8 0.7
31fx| 8:00 9.3 1.8 0.6
T 1 — 11.1 40 66 9.0 0.06 1.8 0.8 35.8
B = — 14. 1 40 66 9.1 0.07 8.0 1.3 36. 3
=K — 8.9 39 65 8.8 0.04 1.7 0.6 35.3
B2 =




KEMHREERIR KERES)

EWRFKE (TXAK) SHIE1A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1[{x] 8:00 9.6 1.8 0.9
2| K| 8:00 9.7 1.8 0.6
3|« 8:00 9.6 1.8 0.6
4 (x| 8:00 8.9 1.8 0.7
518 8:00 8.7 1.8 0.6
6| A 8:217 8.9 1.8 0.5
7|x[ 8:58 9.2 39 67 8.8 0.09 1.7 0.6 34.9
8|sk| 8:51 1.1 1.8 0.7
9 |A[ 9:03 1.3 1.8 0.9
10| €| 8:46 6.7 1.8 1.1
11| £] 8:00 1.0 1.9 0.8
12| 8 8:00 1.5 1.8 0.6
13| A| 8:00 1.5 1.8 0.5
141 x] 84 1.1 38 64 9.0 <0.03 1.8 0.5 35.5
15| k| 8:44 8.3 1.8 0.5
16| K| 8:44 1.6 1.8 0.9
17| %] 8:45 8.0 1.7 0.7
18]+ 8:00 1.4 1.8 0.8
1918] 8:00 1.3 1.8 0.7
20| A 8:45 8.2 40 68 9.5 0.04 1.8 0.6 36. 4
21| k| 8:48 8.6 1.8 0.4
22(k| 8:46 8.3 1.8 0.6
23| K| 8:46 8.2 1.8 0.5
241%&| 8:46 8.4 1.8 0.5
25| 8:00 8.6 1.9 1.8
26| B 8:00 8.0 1.8 2.3
21| A| 8:47 1.8 46 " 9.6 0.12 1.9 2.0 42.5
28 x| 8:35 8.3 1.9 1.3
29| k| 8:47 8.1 1.8 1.2
0[ K| 8:47 1.3 1.8 1.7
31|%&| 8:46 6.6 1.8 1.4
T 1 — 8.1 41 68 9.2 0.06 1.8 0.9 37.3
B = — 9.7 46 11 9.6 0.12 1.9 2.3 42.5
=K — 6.6 38 64 8.8 <0.03 1.7 0.4 34.9
B2 =




KEMHREERIR KERES)

ERFKE (TEAK) SHTE2A8
® K %% &% % w7
k B B OE p HIE B &
o K & & UK
Al B % °c mg/L mg/L mg/L mg/L E mg/L
11| 8:00 1.0 1.1 1.1
2|AH 8:00 7.8 1.7 0.8
3| A 8:49 8.1 1.1 0.7
4 [k 8:55 7.9 38 69 9.0 0.04 1.7 0.9 34.6
5([k| 8:43 6.4 1.8 1.5
6| K 8:47 6.0 7.8 1.7
7% 8:45 5.6 1.8 1.8
8|x 8:00 5.5 7.8 6.1
918 8:00 5.7 1.8 2.4
10| A 8:46 5.5 7.8 1.9
11| 8:00 6.3 1.8 2.3
12| K 8:40 5.7 39 Jal 9.9 0. 06 7.8 1.5 35.0
13| &<| 8:46 6.3 1.1 2.1
14| &€ 8:48 6.1 7.8 1.8
15(£] 8:00 6.6 1.1 1.8
16| B 8:00 7.8 1.7 0.9
17| A 8:45 8.2 41 12 9.5 0.04 1.1 0.8 36.7
18| X 8:39 7.3 7.8 3.4
19| k| 8:48 5.9 1.8 2.4
20| R 8:20 5.5 7.9 2.2
21| &| 8:45 5.9 1.8 1.2
2|1 8:00 .4 1.7 0.8
23| B 8:00 5.5 1.8 0.3
241 B 8:00 5.2 7.8 1.0
25| k] 8:23 5.8 40 IA 10 0.04 1.8 1.1 35.8
26| K 8:46 6.6 7.8 1.0
27| K| 8:45 6.7 1.8 0.9
28| & 8:23 7.3 7.8 0.9
T — 6.4 40 1 9.6 0.05 7.8 1.6 35.5
= & — 8.2 41 12 10 0.06 7.9 6.1 36. 7
= & — 5.2 38 69 9.0 0.04 1.7 0.3 34.6
i =




KEMHREERIR KERES)

EWRFKE (TXAK) SHTE3A
& oK % ES % w7
x & B P HiE B E
o K & & UK
BlEl F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1]x| 8:00 1.1 1.8 1.0
218 8:00 8.2 1.8 0.9
3|A| 8:25 8.8 1.8 1.1
4[] 8:39 8.2 46 15 12 0.09 1.7 1.7 40.5
5|K([ 8:45 8.1 1.7 1.0
6 |AK| 8:46 8.3 1.8 1.6
1|#| 8:46 1.4 1.7 2.2
8[x| 8:00 1.0 1.7 2.3
98| 8:00 1.6 1.7 2.3
101 A 8:24 8.0 50 16 11 0.13 1.8 2.2 43.9
x| 8:43 8.5 1.7 2.0
12| k| 8:16 8.6 1.7 1.3
13| &<| 8:45 9.4 1.7 1.2
14| €| 8:44 10.0 1.8 1.4
15| £] 8:00 10.0 1.9 1.8
16| A 8:00 9.6 1.9 1.7
171/A| 8:24 9.0 47 69 10 0.08 1.9 1.5 41.6
18 x| 8:41 8.1 1.7 1.2
19| K| 8:46 8.7 1.8 1.4
20 A&<| 8:00 8.2 1.9 2.5
21({&| 8:25 8.3 1.8 1.5
22]£] 8:00 9.0 1.9 1.4
23(A| 8:00 9.6 1.8 1.4
24| A 8:25 9.8 38 64 9.1 0.05 1.7 1.0 34.6
25| k| 8:42 10.0 1.7 0.9
26(k| 8:44 11.6 1.8 0.9
27| K| 8:20 10.9 1.7 0.7
28|%&| 8:41 11.8 1.7 0.8
29| 8:00 10.9 1.7 1.6
30 B 8:00 10.3 1.7 1.1
S11A| 8:20 9.8 1.1 1.6
T 1 — 9.1 45 11 11 0.09 1.8 1.5 40.2
B = — 11.8 50 16 12 0.13 1.9 2.5 43.9
=K — 1.0 38 64 9.1 0.05 1.7 0.7 34. 6
B2 =




